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3. AB

Density continously changes.

Non-Uniform distribution.

4. C
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 At rest.

8. C
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9. [C]
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10. BC

By momentum conservation
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By momentum conservation
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By solving
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12. ABCD
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13. B,C

A B

3m/s 10m/s

Momemtum conservation

5 × 3 + 2 × 10 = 7V

 V = 5 m/s
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14. AC
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15. BC
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On solving e = 
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(ii) Kinetic energy of the ball increases by
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16. ABD
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For minimum kinetic energy
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17. ABC

Momentum conservation

1 × 21 � 2 × 4 = 1 × 1 + 2 × V'

V' = 6 m/s
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18. D

When velocity is same means maximum

compression.

 Maximum loss
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19. ABCD

Inelastic collision

0 < e < 1

20. BD
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Before collision
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  (elastic collision, e = 1)

In general for all cases
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  k  1

21. AC

m m m

t = 0
v

L

Since completely inelastic

[e = 0]

By momentum conservation
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 The centre of mass of the system will have a

final speed
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Last block start moving at
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22. a AC

(a) Since the speed remains same for both sand

and car at same instant

 Momentum is conserved in both A and C point

(b) B

Car maintains the same speed.


